
Assignment 2 (Distributed Database Systems)
(due Thursday, July, 31, 2003)

1. (8.1) Simplify the following query, expressed in SQL, on our example database using iden-
potency rules:

SELECT ENO
FROM ASG
WHERE RESP = “Analyst”
AND NOT(PNO= “P2” OR DUR = 12)
AND PNO ≠ “P2”
AND DUR = 12

2. (8.7) Assume that relation PROJ and ASG are horizontally fragmented as follows:

PROJ1 = σpno ≤ “p2”(PROJ) ASG1 = σpno ≤ “p2”(ASG)
PROJ2 = σpno > “p2”(PROJ) ASG2 = σ“p2” < pno ≤ “p3”(ASG)

ASG3 = σpno > “p3”(ASG)

Transform the following query into a reduced query on fragments, and determine whether it is
better than the generic query:

SELECT RESP, BUDGET
FROM ASG, PROJ
WHERE ASG.PNO = PROJ.PNO
AND PNAME = “CAD/CAM”

3. (9.6) Consider the following join graph:

and the statistics shown in table 1 and 2. Applythe SDD-1 algorithm with TMSG = 0 and TTR =
1. 

Tabel 1:
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4.(11.10) Which of the follwoing schedules are conflict equivalent? (Ignore the commit (C)
and abort (A) commands.) 

S1 = W2(x), W1(x), R3(x), R1(x), C1, W2(y), R3(y), R3(z), C3, R2(x), C2
S2 = R3(z), R3(y), W2(y), R2(z), W1(x), R3(x), W2(x), R1(x), C1(, C2, C3
S3 = R3(z), W2(x), W2(y), R1(x), R3(x), R2(z), R3(y), C3, W1(x), C2, C1
S4 = R2(z), W2(x), W2(y), C2, W1(x), R1(x), A1, R3(x), R3(z), R3(y), C3

Table 2:

attribute size SFSJ
R1.A

R2.A

R2.A

R3.B

R4.B
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100

100
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0.9
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